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Higher Order Derivatives
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EX1  Find f"(x) for f(x) = (3-5x)5

$'y= S(3-5x) () = 25 (3-sx)!

§'%) = 25 (4) (3-5xY (-S) = 500 (3-5%)
1" ()= So0(3) (-7 (-9

=-3500(3-Sx)"
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EX5

We know  v(t) = s'(t) V“Ol.'r‘\a,f d\U\* "\
a(t) = v'(t) = s"(t) o\w\’ i~ -ho-b

du.
M

An object moves along a horizontal coordinate line according to s(t)=t°-6t? .

s is the directed distance from the origin (in ft.) tis the time (in seconds.)

a) What are v(t) and a(t)? v u') = S'('t) = 3{'1" l?—t #/ Sec

ald)=vi(4)= (-12 P
b) When is the object moving to the right? (V(‘t) > D}

Hi-p+ >0 s
3t(t-|)>o i M.L qb

c) When is it moving to the left? = vu_) >O wklv\ .l. > L‘ Seec
When vi£) <O, when °4 <Y

d) When is its acceleration negative?

I4-12.< O L <2 see
2o/

e) Draw a schematic diagram that shows the motion of the object.
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